AL
1:2015 1SO 9001:2015 OHSAS 18001 ‘. -\
\/{8WUET \AONET l{ﬁg}jg}; nr "y Y19nn l:ln] nnwo N ninoa

Enviromental Management System Quallty Management System & Safety Management System

51200729-5 9.1

EDSP 1.33 n41Ya nown

: 0229991 7990 119N

Jn 1,33 00Ty Moy, n7o 50 a0Y7,070 75 AN T8 TN n1a npyn 0 EDSP 1.33 npyn
.(2010) RAL ninawnb 71 nrya 19500 %250 17320 NNIND npynn

NITI901) DWW DI MPNND TN NPV

I VNN TN, P00, (10 4.3) A/B nip, /m 1.90 THING RNDD ITInY Npvng

L VP72 NV DNPMN NPYHD YNNY

AN/ 29.7 NPV YIND SPwn

01 30- VI PN DT

11707 01-02 /DH MNIAVI DN DM P

3 aL b X

= T

EDSP 1.33 npyn v nmionn »Mp2y : 01 1vav

DO TN mnIND NRIY 90 anm TPan no7 mpPnn 7N on ann ox7

nmYNInn oY v VN
VIDIV 37N A W4 H1 60 m B0 75 1270 50 EDSP 1.33
RAL S1.1.121

m 60 TN YVPY EDSP 1.33 Npyn YY 1119 NN DXI0IN, DPIPY NPYN 22799 Nndw : 02 nYav

\erschraubung Pfostenklaue

Stofivarschraubung Profil A Stor!verschrraubungfroﬁl B ol Doppelten Schuzplanken (DsP]w;uﬁ;

featenklaue nur verschraubt:
L | bel Absenkungen

P> ‘ R -+t
| o o
=" e il :
| P O & O

Schnitt B-8

Schnit: AA Verschraubung Abspanngurt
N~

I []
£, B {9 -+

4001 \40.30 ] T

04-8580778 : oo 04-8580888 t910 3903001 Y199 NP0 — 138 . 9.0 1 NNNIYH
www.netivey.co.il : V39V*Na 9NN E-mail: info@netivey.co.il




: 0 2015 DHSAS 18001 = ' n 1] . l
RBRET REREE AGKET o Y1900 2m VAR

Occupational Health
Enviromental Management System Quality Management System & Safety Management System

Verschraubung Distanzstiick (DDSP)
oder Abstandhalter (EDSP)

Verschraubung Anschluf-L-Stick (DSP)
odn r Anschluﬂ.wnkal(ESP)

04-8580778 :0pPo 04-8580888 t910 3903001 Y1495 N0 — 138 .9.0 1 HnYivn
www.netivey.co.il : V390N2 Y9N E-mail: info@netivey.co.il




AL
SO 14001:201 ISO 9001:2015 OHSAS 18001 . l
RENET RONEE RONET /i Y1911 121N 12X

Occupational Health
Enviromental Management System & Safety Management System

Quality Management System

f'7'n'on | nin> V9N NINND | INY/DMnin [ 'on v
ama
RAL 2.00/1.00 15 nin'va npyn 0o | S235JR EN 10025/EN 1461 L1.1-102/ L1.1-101
RAL 3.00 45 xnato Ty | S355JR EN 10025/EN 1461 P1.1-101
RAL 5.00/5.10 45 7'nmn | S235JR EN 10025/EN 1461 K1.1-201 / K1.1-202
007.00/007.10 45 Ty 1ann | S235JR EN 10025/EN 1461 K1.1.-401
008.00/008.10 15 nnx nian | S235JR EN 10025/EN 1461 L4.1-101
RAL 40.00 135 oy wxan | 4.6 ISO 4032-5 B1.2-101
nix+M 16X27
RAL 40.01 45 720 w1 A | 4.6 ISO 4032-5 B1.2-101
nin + M16X45
RAL 40.30 180 nNIoY nporT ISO 7091
RAL 40.40 a0 awiyn N | 4.6 ISO 4016, 1SO 4034-5
nixn+M 10X25
RAL 40.60 90 NNIVY NPo'T ISO 7091
RAL 10.00 90 nnaam nporT | S235JR EN 10025/EN 1461 K1.2-101
212V N1
—2—o|
1.00 , 040
= |- -I 5.00{R)/5.10(L)
ooP
o)
i 300
/—
e ey
[_—: [R5 L) 1C o) = o] ! el —
A e
e || LL— T L T '
| | | |
| | | |
| I | |
RO [RG R R [RG RG RG RG R R [T R G [R7RK
alls ail r s
I I | |
o & ] T .y
1,00
_— 4
1 IL ! p JL ]
F 1o T 1 0 LU o 1
200 L L
! I ll IL Y I 1
L 1w ]

4.00

04-8580778 : 0790 U4 =S5BUBEYS 170 3YU3UUL 7092 NP0 — 138 .7.0 1 Hnsivn
www.netivey.co.il : ©V390N2 v9nNx  E-mail: info@netivey.co.il




\/{ISD 14001:2015 \Alsogom 12015 \/{8‘51%]158?‘ nru2 Y19n1 I:‘n] nnuox‘ﬁnm'un

ONET NET 51200729-5.9.1

Occupational Health
Enviromental Manag t System Qualty Management System & Safety Management System

: N2IYNN 21307 IV DN DMINN 121D DININ DYVIVIYD

N2IYNN VY $1.1-121 /D0 VIVIVY
B nmip 7 mivva npyn va : L1.1-102 /00 0I0W
NRPO TINY LP1.1-101 /00 MILIWY
SNDW/PRY PN K1.1-201/K1.1-202 /010 vIivY
nownn NN N B1.1-101 ron v
90 NP NNAvn Nport - K1.2-101 /00 voaw
DN + 90y wny M16X45 ya 0 + M16X27 Y1y wind ama : B1.2-101 /o0 0ivw
TNMNN NN = L4.1-101 100 vIv W
TINY 2NN : K1.1-401 700 VLAWY
EDSP npynb nwby:S4.1-120 ron v .

© Vo Nt R W N

[y

Euro ET13 non nnnx mow nyp non  RAL mipyn EDSP 1.33 nipyn pa1ayn swop o0¥n 120D 00Nan 00vivn
. DOWNOIN PN DAY 7H1AN NPYRD,

NOVORAIL 1.33 njpyny EDSP 1.33 y272wn : PA-1039 ron vivaw

NOVORAIL 2.00 npyn5 EDSP 1.33 panayn : PA-1038 ron vivnw

ESP 4.00 npyny EDSP 1.33 panavn: S3.1-125 ron 0o

ESP PLUS W1 minva npyny EDSP 1.33 yanayn : PA-2021 1on vonw

ABC TERMINAL nxp ypnns EDSP 1.33 y2 qayn : PA-300815 ron 0o

EURO ET 13 nsp nmrvy EDSP 1.33 ypanayn : PA-50716 ron viviw

NOVO CMPS 60-2-W3 ownan pn vor EDSP 1. panayn : NH-MPS-2005 ron viow
yva npyny EDSP 1.33 y292yn : S3.1-120 ron vivaw

® N B o N

04-8580778 : 079 04-8580888 t910 3903001 9195 NPV — 138 9.0 1 NNYIYH
www.netivey.co.il : V39082 9N E-mail: info@netivey.co.il




Ah
2 ISO 9001:2015 OHSAS 18001 . l
RENET RONET RONET o2 Y1O1i1 12111 VA m

Occupational Health
Enviromental Management System Quality Management System & Safety Management System

NMIPNN MNIIN

: NPYYO NPNIN

TADM NP 12PN DYV INNT ININNT DY MPAN-NNNY WNY /TNy Dmn YU IMYRI 1PN INAY AN T YN NNIAN NPYD MHPNN
YN VPMNION NINVHOD DYPNHD DMRY DYPYNRN I3 WY UIND)

TP, VIPY HY DNANN XTI 2PN DYON MPNNN INY YINIT AYHDND NN HYW MNIN) DRINI HPNNN NN DY DPHY N5 2apn oY
2079179 DNNNA TIT2 MTI2Y MI¥IT 0N NP

A¥A5 NYRNN HNAN DY NMINNN DININT MPNNN NN D 7Py NI 92PN 0¥ NMavn Hnm by

PIIYA MRV 7T NEYY) OPYPIP-NN PRV NPNNI NI THI NVII 1% NPYHRN 2V MPNNN NN 2 RTD 1apn oyon nTayn nm by
4,009 7N

JMD 85y N9 NY, NYDYHN N SYH, NTPIN NIV 1IN NANY NTND W3, NTPIN NGV AN MIINND PN MNIAN Npyn DNa Dwopa
207997 %9 5Y 1DYLR TADINY 31 IN VPNIAN DI NYITT ¥ DY NPYHI PPN NN-11NN DNPNN

DINN 12109 93 191 1INTIIYN DY 102 IN 9V ,HIN NDID9, DY DY AN MY PPN DYLND MPNNN NNY

N2 Y55 %9 HY AINNI NTNIAYD TONN NMY 3N 1210 DYV MPRNN INY

08 YW N1 NHODN NOY NPYRn NYHI DRYED DMPY ¥¥ID PN

AN YW NORDIN MY DY MEYINN INND VPNI91 27NN HY N2 MR NAPAN VNN NPV YD

g

=

LG WL

:IPNNN NN NTIAVN INN N9

72939 2975991 TN 1182 YY1 19910, 00¥01,093— T2 DWDNWAN NN 1205 DY DIV NYDIHN DINNA DINNY DPYHN 221070 DI
DY DMININD DXYI97 DD NR TN DINND NNOY “TN1PRA DoPnD Yapn by

ANWHD AN 09 JPMNY NPYRN Y0P NN KW NTY Y15 NN NPT YYD MDND Npa by
AV NRbYN BY PNRITD NMINTY 1N 2N2 NN NPYTA INKD 29, PHN TRSN D AN NNaY v

N

51.33.01.07.03 n1*9Y5 N1 MIN 2AY MIPNNN 99D

ANPANY WITHIN W9 NAY AN BY NIV IR NPYRN MPNN P DN Ho 2aphn by
YNAN NPT ONNNA NPYRT DA W 12193 19N DV WO NNVAN TN, THPNNN P TN NPYHN 22307 NN PONY 2aPn HY PN INND

1212 PNIKA 1 NPYHN MNP, NYDIIN 9 SYH Hro 75 NPYRN DY MDY 0. NNINN MDX NN NN DY DTIPN TIN YPIPI NI NPYHN PTIY
010 34 1IN N2 NNVD,NYNND NI DYNN

NN D OY DY 091 NMIN DT DMIRD 1Y DMINKN DY) NPYHI Y0 NN PYRNY apn by
09N PITN M, D) NPT oy M16X45, M16X27 onra om0 nppot oy M10X45 0yna nniva ¥y02r npynn 21057 pa nan
MYATY NI DY 71720 IR, NPYRN NN DY090 NTHNN RTND ¥, 10791 792 NPYNRIN 22707 92 120MNY NTND 22PN Y

A £ 21 DY NOYN NI NPYIRN YNIRY P2 NN Y00 - MHPNNA MPIap nvvo
NN A0 12 995 1 + 30 DY NYYN N2 NPYRN 709 1N D@IRY DIPHRY N0 NMVD

20991 I8 MINTIN 197 OMPHRY DX DIDIND NP 121 BIINK D212 NPPOTN, DN 22 MNYDN NTND PPN DY

29 Yy 19713 100-1 N1 NI VIYAN NP DTN . PMYP NWAINKN NPYHRY 120 NTN INNNR JPRI/NYP DTN DPRDNY N1PN NPYR DY Mpnn 22
Yipn

w

N o m

©

: DWW DD

: NN 0DIN NINAY DWITT NPYHRN PNND

.DYTIY MPNNY INon

NIWIYI DOM NN DY T VTRN PR

.DYTIY NN

DTN DY P73 23 1Y NN

913 MNNaD BY VRNV 140 TV VIMP— TH/NNAD
.0 059

S129 W09

Non R oW e

04-8580778 : 079 04-8580888 90 3903001 Y195 1%V — 138 .9.50 1 HNYIYH
www.netivey.co.il : V390V’N2 Y9N E-mail: info@netivey.co.il




AL
14001:20 IS0 9001:2015 OHSAS 18001 ‘. -\
\/{E‘SﬁmE f VQONET \/{ON ET g;::?gy19 n n l:'"l ANWO N1 NI

Occupational Health
Enviromental Management System Qualtty Managemen System & Safety Management System

NPYNN H229N 999

: 020917 NOM9

5Y 3139 9210 ANNRNY T2, 0¥ NNRYN PN NN NN DNROY MPNNNIPY Do B mmip ,mnvan npyn Yw mmpn AN NN wapnsy N
11201 5Y 10 NHN MNP

199N MPHNNN P2 IHD NNNN PITN NNP AN 01197 Y2apn by

.DYTIYN P NNINN NN YR NP 753 DN P2 PRIN . 19N N1PNY DXIABN NPYRN MNP NP 02730 1IN
SIDPNNN P DY YN 183,010 N0 4 DY 207103 0MINRND D297 TR 75 nnnb v

B. 929119 oy npyn nmp 1

SNDPY/ PR DYININ 3

NP DY 3

NNN NINN 1

Ty Prinn 3

DYDINY NPPOT 0072 MPINN MAN

L T N T A T

DY Mpnn .2

¥ DINND DMPAN 932 909 NN 0T 1AINT INITPEN MNM T80 NNAR AN NIPY TN PR, MO ATHTH DY 1N N2WN1 vIdW 5w NIpna
A9 NYPR M 0.5 PN INOH AN 2800

BYTRYR P2 ANIKBN =700 1.33) DNND P PRIBY ORDN MMVIN NPYH MNP TIND P TR 100 1IN ¥INY 1apn oy
5110 DONN TIT NVL BAZIIM A PPHY DRINA BXTTIA NN 1NKH NNINN ZY NPNAND JPHHI DITIRYN DIPKD
NV %9 S9N 1170 70 12133 PIPY T2 ODIINT W MIPNNN 1P Y 133 1T0Y DNRYNYI

oy ,5vnY | Y1500010 N1VOY NHNNY JIND TIND N9 HYA PSIN PR INYID TIHY DN 9N 1800 DITINYN 3 DY U2 MYNNNIT — N Yoapn by
ab VYN ,MPNNN P DY IDNINTTINDNT ¥ PIIND XN TN Y 110 NDITI MDD HWA PIVAR 1N 12T DN ODIN 281D ImMN PN57 \9apn
SINTER MYSRND APYRD MNP YY 0NN 01228 5¥ 120 INND ,NPYA NAPNHD PANNN DDIPHRD DY NY NI NP0 NP

220710 Ty PANKN NN

N2 DI M10X25 »)371 miyenia 1pIink) 1mpna Nnyn Prinn /090 IR NNNY PPapnsy N
N 0 M16X45 312 mysnn PN 1IMPRa Pnann N 8nb Yapn by A

NNN NN N3N

PPNIRN NN 2N PP 02720 NNY T TNNRD NIINN AN AN papnby .1
MY N2 NN 0 M16X45 3112 mysnna PRy Pion nMp NN an .2
CL0pYyo NI LAY 3

CTIY2 DRYHRD MNP NN .

PRARM NP M TIT NPYDAN MY BY DNINT ¥ 320 AN .PANIN NN DI PP 1P DN ODNY T2 NPYRA INP DN AONY PPNy N
03 PYTN PIN, YNV NN=IPNNN IR, PR0 DN-N7TH AN .NPPOTH BY DINA IR 31309

N

a0

3

[

NN NIPA/NMIN NPT : IPNNN NPT .6

LDYPNINMD D3N YOV NTNY W Nipvinn mipnn 01oa
NPYHRN AN YTNHD PNDY 1220 Y W ON

NPANN NN AN DRIN JPMNY NPYN YOpY RS ¥
(2N 112123 DY 9y ND JRMINN NPYRN MR NPV

STIN 0 12 999 1979 £ 30 NPYHRN 709 INA DXTIY DIPR2 NAVXD NPVD M + 21 NPVDN NINY DY P NIRI VIDIN YYD K
DD & 3 WYDNN NPYHN D1 MV A

JP 12 TNND 0T 3+ w07 9apnn P2 DN NYDND NPYRN HRY VD )

JP 12 TN 0YDE 3 WAdH DIpRn IPY oA NV NPYRN NP v T

A0 4 2 2890 170 DYDY UKD NNVD. D990 PN MY (°90 - NI NNITY ANN RPN DPYHNOTINY .0

T DMV NPITIN INYHND NN WD W

P ow e

04-8580778 : 079 04-8580888 t50 3903001 199 N0 — 138 .7.0 1 NnWHvn
www.netivey.co.il : V390N2 Y9N E-mail: info@netivey.co.il




\/{5014001:2015 k:sogom:zow\/{gﬁﬁ(}i}‘ Ny Y"onn I:ln]

Occupational Health D100

Enviromental Management System Quality Management System & Safety Management System

A
VA R\

nnwo N nino2

o rn .7

27292 TXAMUNY I OPTNY ¥ DININ-THD DY NNAND NI DN P NaY N
: TINAN NP200 1IMY ONNN YD VINA 1D DY NNDN MYNHNI DN IR A

1 DX73 P17 NN

170 LI YD LIID AN N0
Jon-— oM 140 OH— NN 70 M16
on- oM 17 0HP— N 10 M10

: DPYRD ISP .8

ISP YN (NN NPYRY 12Y0 DTN IN) N¥P 1PN/ N8P DTN 02NN D270 NpYn Yw mpnn 93 .1

. 1252 AYNNN NP2 DINDIND NVY ORINT IMD 1B 4 TNNI MIANPR D8P NMPHA VIPY, 00 12.0 7PN NSPD DD TN .2

L IYOR TADINY 3 IN LPNIAN HNNN AN NN NTAPI MHNHD NINPH NYP MR WIDWY

DIPHA PRYN INNN DNP DN DMIPR VYNT,(YPIPN YY NN NPYHN DPD) NPY KD NEP AT WEnWnD PR YPIPD NPYRN MSP NN 2070 W v3
. UPMNON HMN Y NYINDY, POYN

DIND INND PPN NPINN . 9

ST PR YNT IR NPYHn L1
TINNN NN PPN .2
PNEMOTIZDP NY DN D), MMINN DANYD PIY NPYIN PN DI IR PO piab v R
NN D2YA POV DPYNA IN DN NN VDY wonwn PR
TN NPV MIPNN MNDN MY Y9N PINN D¢ NN MPNN. - )

04-8580778 :vpo 04-8580888 t50 3903001 bn99 H9°0 — 138 .4.50 1 NNNHyn
www.netivey.co.il : V390N Y9N E-mail: info@netivey.co.il




/RONET VRONET

Enviromental Manag

System Quality Management System

VRONET

Occupational Health
& Safety Management System

/1Y
w2 Y190 20 VAR

51200729-5 9.1

nnwo N nintva

N2WHNN NIPAN N VIS . 10

(RAL 3.00) 1 1.90 : N2n2 Hny
1 1.33 DYTINYN P2 NN

1 0.62 : TINY MPNN NN

nro +3 : oMY

PNIN = Y91 Y0 YN PRI
DO +35 WA MPNN

NPYRN YTINY2 TINYN 0N NN 9N

: MYNNNI

nvIvH 3121 (RAL 7.00 ) Ty 9ann
RAL) 4.6 pyina, oIN + M10X25
(40.40

(RAL 40.60) 11 nmMow npo*7

NYNNN NI DNNNA PPHIPN NN PN

N 5 7Y NAMn N»L

2 YN (B MM ) npynn mMp pa n

RAL) 18 nmvovw npoyn (RAL 40.00)

NYNNN 1D OY MNP NMON HY PPN v

4.6 PN2 M16X27 »92 6 myspNa

(40.30




R ONET VRONET RONET

Occupational Health/

Enviromental Management System Quality Managemant System

& Safety Management System

i'l"ll.'.! Y

190 2"

51200729-5 9.1

A
VA R

nnwo N mna

WY YNANN PININY NVPIN NIAIN
RAL ) 9y np nnabn nport
(10.10

4.6 prin M16X45 51y Wiy x 1N
18 nmow npe N (RAL 40.01)
(RAL 40.30)

TVT N225N NPDYT DY 3120 ©IIN
NMLY NPDYT NIYLANI MDY NNPN
.ONIN DY

MY YNINKD NPYNY MNINN B NN
4.6 pyina M16X45 Sny vt x 12
18 nmow nporn (RAL 40.01)
(RAL 40.30)

DY 710 NN 208« Dapnh v
OIMN PTN2 NYIAnN TINa

2772 DY YN MNINN 0O NN
RAL) 4.6 pyin M16X45 3113712
RAL) 18 nmow npor1 oy (40.01
(40.30

ND OY YNINN 00971 Nan
ny o

04-8580778 : 079 04-8580888 +90 3903001 Y1999 990 — 138 9.0 1 ANy
www.netivey.co.il : V39082 19908 E-mail: info@netivey.co.il




£t

RONET RONET YRONET 4 Y100 2m) VAR

- Occupational Health
Enviromental Management System  Qualtty Management System 3 Safety Management System £12007295 &1

)0V VIV

04-8580778 : 09 04-8580888 :50 3903001 Y1495 110 — 138 7.0 1 nnsvn
E-mail: info@netivey.co.il : ©390N2 ¥9NN www.netivey.co.il




RAL-RG 620

I . 1 = —
e — I — T — — = —— — — i — i —— GEarol |
.‘ * i i A« T
[ | 11 | | i | 1
| | | |
i i i i
| i i i
il i il 1l
! | ! !
+ i i T
1,00
1 8.00
e A » / 1 |
I Mo LU o qo 1 qo 1
Yo g0 yo g0
7.00
0 0 0 1]
| Il M ]
: | i :: | )
f It i i
1,33 1,34 | 1,33
I |
4,00
_—*-—...—
~0,50 ’
~0,40
5.00(R)/5.10(L) 200 5.00(R)/5.10(L)
C T
2
3.00 = . 3.00
L~ 14
NN T SN
Verschraubung siehe Zeichnung Nr. B1.1-101
Zehg. Nr. 814421 Einfache Distanzschutzplanke (EDSP) DIN EN 1317-2 L_;%J
Stand: 03/10 PA 1,33m
H1-W4-A
Giitegemeinschaft Stahlschutzplanken e.V. Profil A: 30.7 kg/m  Profil B: 29.7 kg/m

S1.1-121




RAL-RG 620

A3 uajueldZNyIsiyels yeyosupwabang

00°Z AN I18L 0L/ED PuRIg . e
e g |yold wioyuayuedzinysg ok SRR eRR
_ﬂ_ ZOL-1'11 UN Budz, Hu puewusiisieqq
yayuaqy Jny ‘usyasnzue Bruamyois|b sje yaziespurub puis Bunysojziesnz
IR .02 ZueJa|o] auyo Japo Jw awjoH "ysiHapiopa puabumz yoiu Bunyso (z.
A
* a .0
# W - mo,m mw 2ps WW GE¥ UOA SHI2IQUUAN BUIS JnE IS Uayaizaq
LLOFE Yy LL'0FE Oy LS00 NI NIQ UoBU SSpuRg USJULIOUSA 01U Sap USZURIS[O |
- N o ‘uswiwousBine zuess|ojualeIqpUEg SIp PAIM USFERIN USSaIp Ul (|,
N w0 ©o
© o~ e =] © = el =
B R Sy 3 A 3 -
_ o
= >
< / - — e ..OOM.- 50 .A.W
: &9y &6y, __ §'07e » AN R
S'0¥8L == 6
1 v N A
=] 6L _ < z , S
57 5S[OVA AR
g-g puges V7 juuog Bunbaiquaing ZWsypzulg AlRyezulg X Heypzuigy
_Illm
_
o-00er
o
mm+oom
1=022 17022
L1F=0Le 1#0lLZ
_ OF =V
| ! d |
@ ks , _ n 2l
.W mll.ﬁ\ell—l_.lllllmw.llﬂ@l ..... —— s — s — s —— — I%«lll ..... ll\..-..mm..t...mm
i o Z{°] | | A MONE
ta“o.b__._m> 5 < udonyieaun
: _ 2.2¥0001 g
g zZrEeel
270002
TF.99¢
2.2¥000€
¢+000% £F0G L

L1.1-102




RAL-RG 620
| | +3
! , 151
-+ | |+ l&
‘ ; )
sl Uil s b 9 79
i1 i 1 | ) o
| |$ i | o - i
j [ 9% pUi %
| | 2 ¥
| | &
| ! S SR S 3 -
- C1PTT
| | M
! |
| i 244
| |
| I .
0 R Schnitt A-A
—_— nmed _I_::: — =I._:: __]
! I 26 +1
| |
i | g
| |
| | 4,210,18
| | PS5 2D
| f g &g
l. | 45°%2° Y
[(e]
i | B2 e
: : 2
| | |
! l B 55 11
| |

Toleranzen des nicht verformten Bandes nach DIN EN 10051

beziehen sich auf eine Nennbreite 228mm '“tiz.
Zusétzliche Gelanderlochung
(Tell Nr.3.73/3.74/3.75) :
L Teil
c“;. , 1900 3.00 3.73
o | o
A . 4 @
2300 3.01 3.74
T T o
wn
T o Bl 2500 3.02 3.75
LT \
e 1500 3.03 -
Ansloa Tliep a0 Zchg. Nr. P1.1-101 pUrEzEClLL
g TL- Teil Nr. 3.00 /3.01

Zeichnung Nr.: 103

Sland: 12/04

Pfosten SIGMA 100 Tell Nr. 3.02 { 3.03

Tell Nr. 3.73 1 3.74

Giitegemeinschaft Stahlschutzplanken e.V.

Tell Nr, 3.75

RAL

STAHL-SCHUTZPLANKEN

P1.1-101




RAL-RG 620

A Nayj2zug

L
¥ JE

59

445

/

T-
£+

§'0F gl

&
I

g-g Juyds

NZHOIZZL0D

vy

00'S "IN (191

‘A2 uayueldzNyasIYElS Yeydsuawabang

Buniynisny s3ysaJ Ja)eypueisqy

0L/E0 :PuElg)

HOZ-L' I IN Buoz

ZhL TN Bunuyoiaz
66 dS1L Boleuy

z

*21'0% WILUE UOA 9MOIpUUSN

BUI PUN 5. WWGEY UOA SHBIGUUSN BUIS JNE YOIS USUSIZag
15001 NI NIQ YoBU SSpUEg USLLIOLISA JUdIU SSp USZUBISIO]

‘uswwousbne zuels|ojus)aiqpueg alp pIM Usgely uasalp uj ,
wig~ usipey usuagababue jyoiu s)y

|
7 %hmw
: - = — Y -
i S/ 1
T | s e (e -4
== e = TN T _
o ==~ [ —2T T | ~
&> = & b T .Il“_ |
_ ==} _mhn J
o
$
—— e:«Amw
V¥ 06 cF 06l
€T 08
S'LF Shir
g _ 891 _ = v S'LFYS
- !
B e e =
I ) ————-F
T i T
_ va |
s - _
= | .
" |
-\.'-J.. .
'3 hY
£ @ |
/.f \.\ —
= X :
mw l.ru.w — 1 . - llllnm -
ere—— s e e Bt S
._|I'. v

S'0+F 81

X Weyszulg

Z- €01

124

| oL

)

I
0ElL
El; [425
Z- V61

v+

+— = "

E

V-V Biuyog

K1.1-201



RAL-RG 620

z

8UIS pun ;. WWGE UOA SJI2IQUUSN aUIS Jne Yois uayalzaq
1500} N NIQ YoBU S3pUBg USIULIOLSA JUIU SSp USZURIB|o]

"uswiwouaBbine zues|ojusjiaigpuey 1P PAIM USRI USSSIp U]

wwg~ usipey usuagebabue Jyoiu sy

Ol

= _
&
4
Al8y|szuly
€506
£
(474 €L
- L
s,
[
R S07gl
R B =
ol (S

v?»; €0}

s oy .=|+

V-V Bluyog

‘A2 usyuedZINYIS|YRIS YeyssuswsBang
IVH
OL'S "IN 12l YOZL PuUBlS .
Bunuynysny ayul| J9)jeypueisqy €11 SN Bunuyorez
b 20211 N Bz 86 dS-1L bojeuy
N3IHDI13Z3109
“L1'0 F WLUE UOA 8YDIpuUsp
|
&8 _
........ S 1
S | / W_\
b ——— ) e L e oy e odb e b I."\I
S |m\.n i e [lrlllww.rt
I | ! o
Y _ p,
-u!.r.nnf_,____.u_. ||||||||||||||||||||||| R N S, - S0+ 8l _
e = X ieyezug
ZF 061 1¥ 06
e
S'L¥ Shy |
s \F
SLFYS v o] 891 ! g LE
; ]
-+ —— J
(4874
&
= =
e ] =
e S N
P&
FiL
I~
(=1
— e &

Nﬂwm_
€S

g-d Bluyds

K1.1-202




RAL-RG 620

A uayuedznyos|yels Yeyssupwabang

usuopynisuoy Jjop Bungneiyssisp

0L/E0 :pUBRIS g s BunuupiEz
LoL-11g IN Buyoz 66 dS-1L Bojeuy

L]

0004

[2Bnggniyosuy Bungnelyosiap

(dsAN=umgniyasuy 1epo

(dsq) oms-N-gnjyssuy Bungneiyssiap

l% - oo'e
_ 00°L

@ 09'0v
oror

usysoydaalg 1aq -
uaxamneg Jne -
uabunyuasqy 1aq -
JONBIYDSIDA INU aNENUajsold
(dsq3) -=yeypuEsqy Jopo Sip pim (dSQ) usnue|dznyog usyeddoq 1eg

/ g - = v
| | ocor 100t

—

- o ool

unbuuedsqy Bungneiyosisp

-9 Rluyas

0g'or N

g=<+{ v

Y-V RlUYos

080%™

g [u0id J4S3 Bungneiyssiaaua)sold

¥ U014 4S3 Bungnesyosiaaus)sold

(dsaaq) ¥omszuelsig Bungnelyosiop anepjus)sold Bungnesyssiap

g [uoid Bungneiyosiangols

Y |4oid Bungnelyosiaagols

B1.1-101



RAL-RG 620

Teil Nr.10.00 Decklasche M16

115 +1,5
l
B
v & ~ B
c -———-...—..—.E -—..T. ______ — ———
L -
i
+1
2205

Teil Nr.10.10 Decklasche M10

115 1,5

12105

Teil Nr.10.20 Decklasche 2xM10

115 +1,5
i
| F
f | | &
X _-_._._®___.@_._.__ —
q' T 1 v
|
I
30 1
Decklaschendicke 5mm 0,5mm
A
Zchg, Nr. K1.2-101
An_alog TL-SP 99 Teil Nr. 10.00
Zeichnung Nr.: 120 Stand: 12/04 DeCRIaSChen Tell Nr. 10.10
Tell Nr. 10.20

Glitegemeinschaft Stahlschutzplanken e.V.

K1.2-101




RAL-RG 620

“‘_‘%“0" g Sechskantmutter M16 ISO 4032
& l
r |
7/ / o \
L [ I e W W
&k. \ | /
¥ Lz |
k LY D
Festigkeitseigenschaften (Werkstoff): 4.6
nach DIN EN ISO 898-1, DIN EN 20898-2.
Ausfiihrung: C nach DIN EN I1SO 4759-1.
Teil Nr. d L Y D D1 k i n g
40.00 M16 F 5 30 29 8 4 4 4,2
40.01 M16 | 45 5 30 29 8 4 4 4,2
40.02 M16 50 5 30 29 8 4 4 4,2
Teil Nr. 40.31 Teil Nr. 40.32
Werkstoff: St. Werkstoff: St.
N |
u | &
m
) W
- |
\_‘_,_/ |
4 18
4
50
Korrosionsschutz: Feuerverzinkt \
nach DIN EN ISO 10684
el 5 Zchg. Nr. B1.2-101 . Teil Nr. 40.00 Iﬁ_AIl
ohin gt ® o030 Verbindungselemente Telir-a0x1 PR
Tell Nr. 40.31
Gilitegemelinschaft StahlschutzplankeneV. | Teil Nr, 40.32

B1.2-101




RAL-RG 620

NNV IZLAH IS THYLS
*A'@ uayueldznydsiyels Yeyssuswabang
018 IN 1191
¥0/CL -PuUElS
g b1 N Bunuyoez
00'8 "IN 1191 aunBuuedsqy
BOL-1P 3N “Buoz 86 dS-1L Boeuy
N3IHI213Z3102
* §'0F WIWG UOA S4OIPUUSN
3UIS pUNZF WW(Q/ UOA 8)I2IQUUSN aUIS JNE YoIS Udyaizag
15001 NI NIQ YoBU SSpUBE USIULLIOLSA 1YDIU SSP USZUBISIO ).
|
£+ 0002
| | <+ 0001
ZFSL ‘ | _ E50L Fpee
\Fec 09 L¥09 _
& 000¢reEEl 0002/eeE}
|1 : 1 I IL 1
e _ I i SN T
@ & L
- a,m._!ﬂ-_fw - B - EOH EHI—EP) - —— (P —i—— -
7o S IR ILoais
L I 1l Il 1] T
SFOvie
v IRIsuy JNTEIEEVE) 018 IN 181
<+ 0007
¥ 000€E
Z+ [99]
ZF 000L
¥ 0L o+ pET
=0e EEEL €EEL w0g
0002
Il I]

STOovLY

008 INI_BL

L4.1-101



RAL-RG 620

Jepugjebziasiny i snepjusisold OL°L N IS L

SNEpjUa}SOid 00" LN I8l

DNV LELAHISTHYAS
“A's ujueldznyos|yels Yeyosuewabxng
ias 0L "IN I3l }
00°L "IN 1121 usnepjus}sold S 9L} N Bunuyosz
WP K N Bz 66 511 Bojeuy
NAHDI3Z3L0D
“31'05 Wikl UOA SYOIPULSN
3UIB pUN 4y, WWIQ/Z UOA S)IBIGUUSN SUIS JNE oIS Uayaizaq
= LS00} N3 NIQ YoBU Sspueg UajWIOUaA JYOIU S3p USZueJa|o L
- 90}
E-S
w | =gl
= i 5
s+ _ 1 ™
Py . ;
P _ !
il _ 2 1 |
s D I -7 i
1 | !
_ .
SIFyp _
lzpz
i i = i i i _|||
" |l & P | F
1 - oL 1 | |
i | ) i 1 1
| . |
_ > . !
i | - i |
_ o O L |
I [ 1 | 1
I | 1 I 1
| | 1 1 | 1
_ B ﬁ “
| L =
m I m PN i e e
1
| ] I __ I
]
I — . | _ T =
I 1 _ 1 i 1 | | I g i
S “ L g P " " ol “
r=3 H =
1 . | L LE |
- I 1 +
I i o | i : X
| o . m & B3
= I
g | . Lo ! s F “ 3 i Bl 3
1] I ] I 1 1 1 & & u L | fe3 _ 1 I m
,ﬁ L » M gl | _ | e
| L ] 4 “ S ] . G
1 I 1 1 | | !
T 13+ i ! n ; 1
- A Lo “ " 2 1 QW i AW |
s | | 1 i | 1 | = S !
& | : i i I I i B I |
_ . - ! ! | i
: |
4 =09
Fop

K1.1-401




RAL-RG 620

(w z1) dsa3 Bumjuasgejebay JnN (,

*ACe uadjue[dZznyas|yg yeyossurswabaing
( v-LzZ-LAILX-NZd

OL/EG PuRS) L1 N Bunuyorez

g pun y |yoid usbumjuasqy-48a3 66 a1 Bouy

LLEL ANT ANIG
0Zb-1'#S AN "Bysz

ualynsne gewabuuis g |yoid

“UaqNEeIYISIAA NZ OLINXZ 8f W pun uazgasnzuls (0L°g) sne|dyoniq
W ussold (£0°¢) usySold Jap S|IBiSuUe Is| £ = assepjuapog 18g ,,

LO'0F
OLN 000t

9L ol 9L 9L Bungnesyosianusisoyd

1 1 I 1 I 1 1 1L

¥ b b T
9L Leor L L
LLZL/OLZLILOZLI00Z) d d
i £y ; 00't
| 1EL ; ZE'l vl £e'l vE'L EE'L 00'2
I M
s FREIEE | !
NN N IO | N
I Ll J_
. gl —ia e ) Y —————
uspoqps3 YO 4290 S0°0 5= Vo , . i
OLEL/O0EL
Lo'0v
9L AL oL 9L Sl gL e EenRsi satasild |
I 1 I 1 1 1 1| 1 )
& 2 Z T z >
oL wor _
LLZL/OLZL/LOZHO0ZE |
| 1 | 8_.N_. |
ec'L vE'L ; £e'L 00'z | 00'z 00'z 00'z
H M
B0 B0t i :
0% _ €T
[ ] _ 4%, el _

SN D e T R i a2\ A LINA Y NS LoNA 2SI o NS LS NS IONS D AP I SN L NS LN A NAINT LN LONCL N TN

USPOgRIT YO J2an 50'0 =

et
oy I et

$4.1-120



1111111111

/ n
VRONET \RONET RONET s, Y1900 20m) VAR

aaaaaaaaaaaaaaaaa i
System  Quality Management System Management System |

NPYN 12 92yN0 dYop
EDSP 1.33
MpyIoRAL,
999120 NPYNID
EURO ET 13 NP NN
JABC TERMINAL
DVNNN NI D)

04-8580778 : ©po 04-8580888 :50 3903001 Y195 N0 — 138 4.0 1 Nnswn
E-mail: info@netivey.co.il : V390N NINN www.netivey.co.il




53 1 3 1 4 3 1 2 | 1
RAL EDSP 2.0 NovoRail 1.33
Pos. 1.1
o
o ™
) M RAL 10.00
2
I
Pos. 3
RAL 40.30 RAL 40,00
RAL w.col\ RAL 40.30
2000 2000 1000 1000 1000 1000 1334 1333 1333 Pos. 2
I I I I | I
12000
RAL 8.00
~
RAL m.oom\F
5.10L
e — BARRIER SYSTEMS GMBH
= _ulrm iy Bt e Y | - u%a;szﬂaz Str. B
S wed | S el 34 Wilns
Sermany
now 1o 71910 n'7' nno 071 mimn
nna "o | "y WK Y001 {7
Eng. Shmuel Josef| Tomasz Baracz, dipl. Ing | pa-1053
NN oonon
q2yn
NeovoRail 1.33 to EDSP 2.0 TR MPmn oI TR g
1/1 16/09/2012 01
6 I 5 I 4 3 ] 2 1




m._y_.oom.ool/

EDSP 2.0

NovoRail 2.0

.75

RAL w.ool\

2000 2000 1333 1333 1333 2000 2000
| | |
12000
RAL 8.00
——
RAL5.OOR— | —_—————
5.10L

BARRIER SYSTEMS GMBH

e ey
PASS-CO et
Germany
Oberflache/Surface Allgemeintoleranz/General tolerance | WerkstoffiMaterial
Verzinkt
Bemerkung/Remarks |Erstellt durchiCreated by | Genehmigt von/Approved by | Sachnummer/Part number
Eng. Shmuel Josef| Tomasz Baracz, dipl. Ing | pa-1040
itel, Zusatzlicher Titel Dokumentenart/Document
Title, Additional Title
NovoRail 2.0 to EDSP 2.0 usgabadafum; - TECHE;
Scale Date of issue
23/02/2012 00
| 5 I 4 3 I 2 | !




RAL-RG 620

|

| TS EIRuTH NSRS 55 i3 S

0¥ &S3 sne €71 4533 Susbizqn
l:ulv-uhL._.Du

|

LZosi s

STLLTS U5

|

FRL,

=

Wy
[ gl'o
g
X

|

8
ol

ROLSARICO'S

I
SUESIoGN 0078 i

waiynsne gawabuws v gty

gl'o

1 o !
o0’z il 00z - _ u 002 [ 00'z | %0z [ = | m =

$3.1-126



Vi

RALEDSP 1.33 £SP Plus

]

Xwﬁ./ F-F(1:25)

w# RAL 29.00 .\\Iwa.m.oo
3 3 RAL 10.10
w & 3
~ ™~T
RAL 40.42
RAL 40.50
RAL 40.00
RAL 40,30
RAL 3.00—]
1333 1333 1334 1000 1000 1000 1000 667 667 867 667 667 667 RAL 2.00
1 |
12000
RAL 5.00—~___
B ; RAL mm.oa/
” s \l - - 2 6 -4 - 4 —_
RAL 5.00RT r E’ — —— ——
5.10L
s BARRIER SYSTEMS GMBH
R | i —_— Donmunder Sir, 8
S e STZ&Wiinsdor!
Cermazy
now o 190 N7 N oY3 N
nwn vy vy YN 908 770
Eng. Shmuel Josef| Tomasz Barsex, dipl. Ing | pa-2021
nnD onnen

Rt
ESP Plusl 0.67 to EDSP 1,33 |

T JJ.“—A

1711

01/02/2014
1 > 1 4 $ S 1 F3 1



i 5 I 4 $ 3 I

RALO20.10
or RALQ20.00

0.75

Te ABC Terminal

.00 0.7 13 3.00

PostNo. §

Distance between posts and pos! type
according to guardrail system

8.00 o0 T
|/ o |/ \\m 00/5.10 \|>mn.\m

e
PASE- OO e
Dortmunder Ser. §
ST Winedor!
Gavmany
noY 19 N9 ' Nt oxnn
ANYA oy "w Tk o0 ifin fa
Eng. Shmuel Josef| Trinity PA-300815
mnn aonen
“avn
EDSP guardrail
to ABC terminal
3 i <




¥

8 1 | 4 3 | 2 | 1
RAL 20.10
m.ool/ or RAL 20.11
To EURO ET13 D
w
I~
=}
|
/nomH no. 7 —
30— | Guardrail post - RAL 3.00
3.00
1.33/2.00 _ 9r
[
Distance between posts and post type
according to guardrail system c
! ﬂ”/ - u\@
RAL 4.00 Post no. 7

Guardrail post - RAL 3.00

B
7
RAL 40.00
RAL 40.30
Do not bolt the Rail Panel to Post 7 and/or spacer -
. BARRIER SYSTEMS GMBH
PRSS-C0OF Do s
Germany
now 19 71910 n'7 nao 071 7min
N "y ooy R 1900 70 |a
Eng. Shmuel Josef| Trinity PA-50716
nann onen
13¥1
EDSP guardrail 1.33/2.00 nTa Mp[me viey TN g
to EURO ET13 1/1 06/07/16 01
6 1 I 4 3 | 7 1




- 1

1

H-H(1:15

.b ~

M ta 141

Pog. 46— |
m.Ou.N_[)Il:l
-
m
—J(15)

e

005.001005.10

040.00
010.00
00200

Novs CTMPS 80-2-W3

b

I Haotma st 1
NETIVEY HAMIFRATZ LD | Tit Carmel
1 Tarazl 3203001
Oberiiiche/Surface | Aligemeiniaieranz General Itleranos Werkstofi/Nitensl
EeTherkng Remarks. SR dureheated by | GenedmgtvstiAtorved by | Sachnummesran remder |4
Shmuel Josef | Viktor Kuschis NH-MPS-2005
el TiteT | Dokumentenart/Documend
Title, Addit==nal Tile |
EDSP 1.33/2.00 with IFum [rorm

k)



RAL-RG 620

NDNIMZINHITIHYLS

e
og’oy
wha HBYRZUIZ
SExoln | [Nr48
UBUYOGQIDA ™|
NNl N
In |
o
> ||l
& ||
] _
00°E H
Low-ie [ @
N ‘Buysz aysis
Bungneiyosiap,
(Nor's/(Hoos
M ovo 1
9-9 BuYyas

N3HJ13Z3L09

*Ate uayuejdzinyossiyels Beyssuiswabang

puemzinyssuojsqg abijiasule suls ue
gnyosuybuebiaqn - 48a3

Y0/2L puels

0ZL-L'ES N Bysz

gt iN Bunuysiez
66 dS-1L Bojeuy

L'EFL Y168 DA PUN §'9G€ ZH.LE dA *2IY02IBNYIS Jap puejsusbap 1si uampinisuoy a1

uaiynysne gewsbuuls v |yold

Biyesui
——— Ul NYyosuola:
X. Joy|ezurg Bunpjigsnepuz Bunyaziap puemzInyosuo}ag
7oLzl TlT i ,
_ ! 0, 190
i ~ # S0E0 | |S2LD S0E0 | Echo
NN I NN NN i NN il s =
2 e 4 1
IEN —ELE N Vo L
n [T%5] | ,__ : ..
[ 14 v vl
e o IT1 1 | 8 1
s ! " -
- SE | & il v IN o]z Vol =
I = il L & 2
4! = 111 g ' i
T |_|4 1 1 T
T T . ]
0L'¥/00% -
00Z/00k 820 820 820 0z 0 020
101-1'18 N "Buyoz ayais LoL-1°28 N ‘Buydz ayals
BungneJysIaAuaISold Bungneuyassap
-4 puyag 3-3 ®iuysg a-a pugpsg O-0 Buyos g-g nluyas V-V Juyss
SLZL/IOLET _ = r T _
00Z/00°T : ﬂ/ | _
3 ¥ 1 L3 i 1 1 I — ==t
I

wioH 'z Bunjuasqy

00’8 =) 9LZL/SLZL _
= 907CL /502
d—=] I 056
_ = _ s i lo = LOL-1°19 "IN 'BuUYdZ ayals
_ 9 3 a ! 3 a L © Bungnelyosiaagolg _
| _ o oy |||r|!.|nr |||||| :
e T I e . !
MI.I..|@|I!|A|| ....... == —- = — e ) |
D D= : . D= g-== V= |
| d—= |
00'y 00’y 00 00'% 00'% 00'% |

§3.1-120



